MULTIPLE CHOICE QUESTTONS
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1. The valve of e inlegral J:IJH“" RSN T
A0 R 113
L.t [ mosi ol thagy

2. In the Irapezmdal rule, we approximate Ihe
Inergrnnd over every gubinteeval by:
A, 4 st line sggment
E. an arc of o porabola
L. an are gl a cerele
O an are of an clinse
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Siven the data

¥ Q | Z 3 4
Jlax | 2 7T WM 1
rven, by applying the wrapezoidal mie, an ap-

a
prosimate valwe of {L}_f{-t':]:?ft (o

AAd B 46
C. 63 P12

4, Toopply Simpson's 1£3ed rodes, the rmber of
sub-divizions of the range of inlegrabion mugy
be a maedliple nf:

A2 B i
.3 [
5. The umafest positiva real rool ot theéd
mn e r o 0ies in
A, i
C.oin, )

& The equal-on & = 0 has a ecat

e300 i The inter
At-2 -1 p
C, {0,

mictho
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Do

reratign of Newwon-Raplison
sapproximaic rond al the cguarion

o By + E=1, Iving 1n Lhe antervad {1, 1), 15
A, 0200 B 0130
0 0A% O A4S

9. Inthe ollowing system ol eyusttons:

|

. f{fﬂgE(I-Pi}—lﬂgfI

§. inoeder woapproximate 3 el roon ol the equa-
lon 4’ = 4 - 3 = @ by Newton-Raphsan
method, i we fake the inttial value 35 = 2. the
rhex Fiest dborabion gives the g valug:
A Of5 B 164
. 2iWt1 D, i

Or + By = dz = 20
¥+ i dr-h

Lo - A Hm = 1
if we fabs v -z =
solubion {x, ¥, z

je approx A
Fativ in i ven

B.
B aene of thegs

-
L
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oge - I
ki A% equnls:

(kg )

A ilop xd o

B. {log &'v) + o

Cooillog 22 - Infteg xf o+ ¢
D. none of these

T ]n‘x aqeuls:

A C—Hog (x + Bk

B, O - [log (o 1140
CoO - bog Thog (x4 1A

o {0 - W|logiy v e - Ing{:}:-'|
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1d.

15

14,

v

15

1%

20,

_[Iff fuk b xhde con slweys be exprossed as:

A [Prendx B, [fuods
a+h fi

e fade o {avsif flade
a—#b a

j‘:{l —r¥ysin romst 1y squals:

A D B oz (a3
€ iy 0. nome of fhese
_l'r:ﬂs:inv* ¥yeosy dy is

A - 415 8. 415

C. 4 1. B2

The function fx! = & + Saf
decreasing in the interval;
A -lorcd B B<cx<m

1 is sirictly

If)
B, N

. ...I.E..;_xq[} D.

The interval on which the fepction fr
= x{xE 4 ¥ s Gtricky increasing, is:
A ~¥ax<d B lecx<?
C.Rer< .

Arihe point x = (% the Tunction
A, i local minkmuin value

8. a local maximum vaivg
L. neither maximuam

D. no walue

For0=a< 4 valua of the Fune-

B 1

N 2lope

¢ yillue of the suwm of any posit|ve real
Fand it reciprocnl s

b2
D4

2. The targest (raction whase dewominator ex
ceeds the aquate of s numerator by 16, 12
A TR B. 171G

oy D, 715

ZZ The poinl on the greph of the fanction flx) = x
which Bt elosast to the point {0, 1) s

A D, 15y B il B
C. (1, 3. #2) D fd3 1419

The point an the straizhn line p = xp
the sum of the squats n itk distan
points (w M. {(~a. M and (0. BY s 0

[

min
&
A. (0,0}
C. (5 )
The Tunction |
when x 14 -

M.

The 0%l numiber of numbers greater Ukan 106G
amsd divisibic by 5 thal gon be fermed from the
digits 3, 4, 5, b, if no digid 15 reaphed, is:

A 12 B 24

C I 4%

Matchas wore played in a foorball 1ou: nament

prch Team mel its opporem oniy once. The
nomber of 1eams that snnk part in ihe tourna-

.

ment s
At B 2
<9 oo

Civen ® lines segments of lengthe 2,3, 4, 5, B,
units, then the aumber of triangles et can b
formed by joining these Tines, is:

A B. 3C, -1

€ 3-2 D 3C, -3




e,

Hi.

M,

28,

. 'The third erm of p GP. is ¥ then the po

The sides AK, B andt {74 of a triongle ARC
bawas 3, d smied $ mleriae poipls respeciively an
thers, The nomber of frimagles that £an be
constivetetl vring these inicrior poinis &y
VEITICRS, i
A 205

¢ 30

B, 204
3. 3RO

W, & o, & and pare distnck rgal numbers sueh
mat o + B4 ey pd - P (ab w B o o) 4
e 2 dM e 0, then o, b ¢ and  are in:
A AF

a. ap

C. P

0. nu defindie sequence

Tha ratio of the HM, snd G.M, of 1wo numt-
herz g 12 @ t3 dhen the mombees ane oin the
i,

A, 203
C.a4:7

B 3:35
1> 1:9
Frugr naenbers s in CLB IF the produce of the

second nd the third ferme is 3, then the pro-
duct of il the four wrms is!

A B no32
C 14 D32

vl its fivst five terns is:

A & R MW
o 2. none of
The continued product of I8
0GP is 8, and the som ofg
in pairs is 21, 1hen g ot
AT L6
. LR 222

numbzys in
nd:iﬁ's taken

The sacan s | and e sune of jts
inCivite 5 i% 4, thon Hy first teem
is:

A B 2

03 ' I 4

If ench tarm of 3 GLE, is positive apd each wrr

ie the swm of s two sucreesding reres, then the

3T,

30

42,

43,

eommon ratiy of the G.F, is:
RERYTE B {V5+1)/2
c )2 b (-E)

In an jinfinite G.P. whoge terms 3re posilive,
rach e is equal inrwice thie sum al all terms
whick Folboyw it Heen e conenmon ralic af fhg

O s
A w2 "]

¢ (¥3-1)

The value of jog ey 174 '
+ o tam B e '

A0

COH. Jand 3
D odand 3

B 2@l
[¥ 4and5

Thc roots of (he equation fg  rid +{r - v+

i - gl = U are

A P~ giflg = rhond |
B. (g - riflp — ¢ anil §
i pifip - ¢ and |
B {r—p¥g - rrand 1

If eot ez and cot [Fave the roons of 1w squatian
ax? ¢ At 4+ ¢ o= 1, theo the valee of cot (o0 + B

B
AL L= aph BB, (g - cyh
C. {6~ cifn [ e - aVfe

The guadratic egaaion with read coefficiens
whose noe of woets is T -1, s

A -2eat=0 R a0
CoxlaZewl2= L e-e+2=D



4, I the equations &% — rx + pg = Dand x? + gx
- 7p = U have n common root, then g, g and 7

sAtisfy:
A ptger=D B parga=-r=0Q
Cp-g - -r=0Q Doptg-2r=0

45. For the set of all straight lincs in the plane, the

relatioa of “perpendiculoriyy™ is:

A, reficaive but neither symmelric not transi-
tive

B. symmetric hod neitber reflexive nor ransi-
five

C rransittve but neitiusr efleaive notr syne
s

2. neither raflesive NOr Symsaceric Tir {ransk
Hive

6. The set ol real aumbers bying beowenn 80499

{recuersing 9"Y and 1, i
A, ndl
C. wfimie

B. singleton
1. pone of these

47, [T A and & aze subsets of o omiversol set U, dhen
Ar{ A BY oquals:
A. B B A
C. a8 0. aone of thess

4%. The nomher of alt subsers of a lnite sct :

rlements is:
A ln
Coom

If 4 & and & wnee nofy
(A=l 8 - A equd

ﬁ -

B
C
Ia.
5. sty sels A and B iF A B, then
{ARESn (A= A) exquals:
A AXA B H=8
C. AnH ). aonc of these

51 Que of 19H) people surveyed, 33 smoked, 57

5%

53,

54,

51,

5R.

drank and 27 did botk. The number of persons
whi did netther, is;

A, 10
L35

B, 32
D, 17

A binary operation @ is defined in the set 2 of
Wiintegers by g o b = 20t + 3b2 . Sab, v a.
bed.Hpe) =1, then p etuals:
A G 2

C.3 . aone ol t
A binary operation o it defined in &
¥ then (302 pquals:

AL 6d

. 582

Wig dtisona

another poirt lvin
dinates:

he ling sepment whise end pointy
-1, 2) and B ( -3, O), then y equats:

H -4
Doy

Given the line ¥ = ﬁ-x + & and another bne £

paralle! 1o this line and au a distzace of 4 ueis
from it Then a posstble eguation for L s

A,}r“—%x E. }'=~§-x+1
C.y=gx+2 L}.'}'wi-.rl-l{}

W, B, ¢ pree renf aumber such that 3a + 28 4 A
= 0, then Lhe tamily of straughl ines ax + Ay +
¢ = O will alwoys pass through:

& {30, 140 B. (112, 3/3)

C {43, 2) D=1 3

I a b earc in AP then the lixed poim
thiough which the straight hne ax + 2by + ¢ =
0 will alwars pass, s
A (1, =N
C. 11, =1}

B. (-1, 1
D (-1,



£n,

alk.,

il

ik,

63

a4,

5.

Lt X be the ser of ol real pumbers eaeept
{- i1 A by operation o 1s defined in X By
X0y =xk vy oy by e X Thes the ldentity
eleman sarder This opersiion i

A -1 B4

L B, none of these

A paink am e coree pomoe? which i closes
the ligg 20 ~ v o 4 =), ix

A DO 8 (L 4}

C. (2,4 0. (3,9

The: locus of the mid-paxints of the parions of

e varable lIng A o0k @ + 3 200 =, ike-
cepded belween the cordinate axes, i

A xby oyl e 4pE B. x4 g2 4 dfpd

O ox i Doa st sd4p?

The disronce hetwest the lines 3xv + 4y ¥ and
Gr + Ry = 15, v
A N2

C. &

_;-"3 = ~1-fp1

8, 3o
D, 65
The value of b for which the eguaion X +
Thay — I - 40x ¢ 30y — 75 = O represenly o
pate of stempht lines, i

A | I 2
o5 [ 4

If the paies of straight fines 22 - Jpx
snd £}« 29% - 3@ = 0 be such y
hisects the angle hetaawen the ok
the correct relationship is;

A, pg =il %
C.opg=i

There are 10 oripi

dpticate, s
B, 2001
13, 2491

rmanwfacored hy a company are
dolective, The probabilily Uiat 3 vut of 4 albs
bought by a wustomer will not be defective, s
AL ACyiC, I ¥ T o

L LY ) D, g, -1g e,

£7. The produey 32 . 3218 3368 faf equals:
A od B. 124
£. 2568 . pene of these

1 i
Theyeres | oo

(- =¥ (i~
may be simmed, iF
A Txl< | B P71 -

Coilwxizl i1
"The stk terme of 2 series s st + 132
gt of & serize Lo borms 1
A At 12

B. Afm + 1} R+ 2WE
C.owfm 13620

N {i.'{n-i—l} -.=

h*srrics 1 ¢ ——

i
1+3

GH. o id, ik,

.ti~:}
flewxle

49,

H. 52

1. none of those

i 1 ;
. The sgm of the derde
W RLT Hrrws|12+2r3+3‘4+
..... ad. inf., iz
A B B. |
. 413 [r. nome of these

There are v copics cach of # different boak.
The number of ways m which thase sy be
ananped in a shelf, is:

A nlWn -1y B.
C. [hr)lfrt

!
D. {arkirye

3. The number of ways in whick r Letters can by

posted if g Jetter Bores i a lown, i
Aont 0.
i np, D

M. Tl s of the: siares of first s even natural



muzrebers. B

A (1w nd B Zein o+ 12
nfn+ 14284 1} in+ 1) In s 1}
0, e B
i 3
75. The sum of positive infegers less then 100 and
nor Jivisibbe by 4, is:
A L260 B. 7S50
3850 D. 4958

6. The sum of all Positive intcgers lass than 100
which aze nol divsible by 2or 5 ix
A 4950 RB. 3750
£, 3400 Dh. 2K

97, The angles of o pentagon are in AP, One of

the angley, in degreee, nwrt be!
A N n. 72
LU ] i I0R
TE, i a, b coare in AY. a5 well a5 in G.P. then
which of the following ix guc?
Aoa=h e

. oa=h=rc

B, awpb=z
axbac

79, A number is chosen st randgom from
firet 30 nararat numhm Thre pruhahm

[Th
AR
. Mo .

a0,
bﬂlt:r of the

Bi. For, nambers & and . the cqua-
) 1= 4oy is possibie only when:
o B

Doxovy=1}

rmy=t
y=ul
$2. The sxpression (cos © + sin 0 has the moxi-
munn valoe when 9 15 cguat
A, 30¢ L. 45°

L L Ch, Qrr

. The mingmom value of (Co% ¥ + '_ﬁ sinx-1)

is!
A =1
0.3

f, -2
D. _fi

The maxirmem value of

[3+5c05 &Aook r{fh -‘E)] is
3 .

Aoa B. i0

ot
in a triangle ABC, A K sk €
are in A IE D then < A is egual
Lln N
A, 300 a5"
r. 0. 75"

of he arhirary consiants »

42 = 1 leads W the DB
a B

— % dyddy =0
H yide+ =0
C. dlidat = 0

. xofwidel - Ddwde=U

. The sliminatinn of the ashitrary constanty .

and B from ¥ = Ae? Jends fo the DLE
A yy-pi=h Bownyty?=0
C.oy-w=0 Lt y, 3y, =40

. The elimination of the arbitrary constanis

and & in ax® + byZ = | leads to the DU
A ¥y -y =1

B oy +yH-xy=0
Coxf{n" vy itew =0

DoxQy #y -y =6

1 y
3 [1—}“) = 240 sin B then X7 il equaly

A, jsindP E. —Zigin2#
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%" (x +l] = 2ces & then 5 + -i-;- equzzls:
X A

A Zuin Iy
C ocowd Budoacd

B, Scovad
D Beosd @4 3cos

o I @+ = 45° then the value of (ot a - 1)
fonl fi - 1) s

Al B. Z
o) D4
¥1. The value of
HEGREE
wnd - 1 ying — | sim| — sml—-—+ igs
I 14 iq i4

A B 1M

. 18 0. Jf37

93, oot o 173 and tan P = 82, then the valye of
(e — @A) ie;
AD

£ /4

R alb
v i

Fut £ o om0, he liney b + my + no= 0,
i + iy + L= 0 and we + v e om o D oore
concurrehnl

A f+maens 0
Col-m-n=0

B.lemira=h
B l+m=n=0D

95, The area (in square wnits) enclosed wight

cuive by b+ 1yl =T, i
Al B 7

C. 4 D. 4 &
B35, The limit of
{Um[-{] ;_-m[,f_ }
5 . ) A5 K .y
i :
.&.: IJ_*“ . ]
C. (310 L3 none of these

sin & cop &

ﬂ. Tl limir nf[ P ]35 B3 A4 i

3.

180,

3,

W (u' 0}
C. 19, 2ed)

A s B t/47
| Do
- {x-3) .

Thie limit of AR Xz dis
[J;n-:—J¢~x|

A B B!

C 2 . none-existens
sin L]

IF fix) = S where {x] denou

Ereatest integer less than or siual eo any
rumber X, then T f(r) equal
Enba :

A
C.

Thu vatue of g8

sin b

B he Fanclion

M continuous al x = 1,

B -t
. 4
ublinates of the point on the curve v e ¥

Bt which the noral is parallel to the line
2% + 3= ), are:

B. (e, e}

. {et, -2e-%

I Ax) = § + e, w o« 0is the inverse function
of sl ther = squals;

A -2 B -1

C.o0 D 2

I
Il the fncdon fx) = EDGJz+t:mi[w§+_r)

e
. Do xm{ ) A ] % constant (indepemient

of 1), then the value of this constant is:
A0 B. 43
C. 3_:*4 |




10d. Of the loilowing inverse wigonomerric refa-
tinfs the only o it b indeperdent of 1 is:
A gl reaam! x

B ot xq+wan {32
C. gee! x4 come1{ifx)

B ovost ooty

108, The prinzipat velue of sin~!(sin 3473} is:
A of3 §. Laf3
C. 45:!3 i 24
i
TG, I {”';} e 2 then ihe poneipal valve of
gin oy, e
A, afe B. a4
C a2 I Inf2

17, The value of lﬂi"!{‘%) - tan (13 15

A. tan!{5/8) B, 5/

C 1 0 a4
108, The valuz of gec(ran ' 2)+ cosec?

i

A. 11710 H. 45M

C. % . 15

i
e Ha=|0
{3

113

E13.

2115,

116.

G, SR

- e

&
b T 34 enmils
1 then A+ 3A egnals:

AA
044

B a4
16
H A and B are two square matrices of e i
arder. then A asd § always sotisty §F
A AS = BA

B, AfA + By = A2+ AR
C. (A +BY = A? + 245§
D AR = 0 o Enthpi

17 £} denctes B1 o matrix, then for
any three sg ¥ A, B umd ¢ of the
same org eqrz]

B. CAR

ARC

"‘ Ao (4, T3, then tne valiieof o5 in
e [lle s theoreor v egumt e

Y G B. s

D, =2

Tha real number ‘o guarsnieed by the Rolle's
thenrem for fix = Yog, sin ¥ in jhe interval

x ixp
E- ? L Er

A, 1 B, =3
LA o 2nf3
Jru-l, for x4 0.
If fx) = 5 ax+h, forOcx<l o Ly

| 1 fmxzd

nucrs Tor alb x then the values of a and b

are:

A.azmdmml iz
H oa=2ad b=
Coo=-lamglr=-1}
Ty oo b o B



117, The function f{x) = {

118,

1%

124

£n.

122,

12 7

124

iogi1+ax; —lop(i —bx]}
A

is not defined al x = 0. The value wiseh shoold
be acvigned to fat k = O 5o Lhat it is cortinuous
alxo= e

A e - ) B, (o b

C. oo {afn 2. Ing (adn
IFAx =k b, then £0G s

Aol H. 0O

Co| [3, non cxistent

The largest interval on which the funcrinn §x)

& I
= —— p dliffereatishle is:

{E4toly
A {—m, G} B (D, o)
€. —w, w) P, {0, D340, w)

si x"
The Lisnd Uf{ T ] a5 &~ 0 is:
Al a.
C. 180 3 lﬂﬂ
snX— X
The Bk nf[ ] az x - 0, ig
A 1A B =N
Ll N D L8

The ot of {Lepf(1 - w25 25 5 §
A0
L

x) 15 ind x, i the
figin, It ecjiaation is:

he stope of 2 cung,
corve pasics INeguy

e corve through the poist (2, 1} for which
the 1mngent 31 any poimt coincides with the
directiem of the radius vectar drawn from Lhe

115,

124,

127,

130,

131

. The

urigin 1o thet point is:
A 2y=x B, ay=x?
C. ¥ =a 3 4yl = -2l

The curve (kough the point (2. 1) for which
the sloge of the tagent al any point is twice
the slope of the stroipht tine connecting this
paint with the origin, is

A Ay =yl B. y=2x-3
C.oy= e+l [y = (lop ilog &

- et

The ciquarion of the curve throngh the poin
3y snd having the property that e Seg et 8
sy tangent 13 i {yieg between |
BaEs, i5 bizeeted by rhe ;'.-mnr. o
Ak +37= 0
© 3t = dy

The greates: vaJu: g

. ymAcosx+ Bomis
D y=Aet+ B

peneral  solstinn  af (ke TLE.

Ing[%] =Xy, i

A et R = B 2fer¥=p
C e t'ter=g¢ D e teFae
A pacticutar solutson 6f the DLE
B. y= &2
[¥. none of thesa

The general snlutian of the DL (x - ol da +
{y =~ x*) dy =0, is;

A Bsy=c

B. {I=-6fy=c(l+ )

_'|.ri+}1“l ig:
A yoisinx
Cody = 3yl



C x-yplady=e
. 121-}3:':.: ¢

132, The genceal sofution of the DE {4+ vj dx +

rdy =6 I

A ayaer=er B o#tilmy=c

C.t+deymy Dy e b=
134, The general solution of the DB x¥ = ¥, i6:

A y=opd 4y
B, y= o0t ¢ ryptd

C. y= LN R TR -i-

D. y'—--&.rh £+ 2y

131, The penernl solwdon of the T1LE.

efy =¥ . x---v]
2o e i | SR s ,
dx“Lz]r[‘z.""

A, logtan (W3} =r - 2 sinz

B. log tan () £« 2 8in (2]

C. Jog tan (W2 + M m e Tsinx

Ce log lan {324 + i) = ¢ — 2 i L)
L35,

1 I

{.t+ f.']'_i ) (x+ B . F:r +cl
surn of ite rpots &
A O
0 Ml + A

i rero, lhen

W, ebAft OB
D, — O -

1345,

lﬂ' '

‘Tie value of J' (2131 ~bxP daix b

A1 R. 34

If the product of the ownts af the squitiong

£, an =3

130, The area bounded by the curve y = a7 the
r-axis, and the ordinates af x ~ ~2ang x = |
A8 B, -{54
. LE4 Ly i7is

140, T area hoosde] by the curve g = dy -y ? Ilﬁ

the y-azix, i

&, 323

Ly}

8. a4l

. 6d
ML i = Jg ¢ §im r e [Had dx x

A, X8iD: &

B rxinr+a
Cole-Nsnas
Lk {F ~ o) 5in

142, The va P sin /2 dxois:

KB
I H
- ¥ it
B vafue of I I%:
s 2a
L B. 2ap3
Cologd Is, Zlog 3

The value of l: [1+.!:] P

144, i"-"?
A1) B, 1M40r+2)
2o {a+ i} R e+
145, if p, g are integes, dwn

J7 fcos px— singeytdx equaly:
A O H. %
LU 4 D I
W6, I 761 = 4 i = 2, then the value of
f e s




A2 B o
C. 1 1z
cosd - sin B
147, Tho muliplicalive inverse of |
sinf  cosd?
A, [ cos & sin E"
—kingd coz I.‘?
n [ —¢os & uin
—yiu#? oo d
c cosf wind
sinf -cosd?
oo{ s —xind
“sind o

[ S |
148. The nhipiicative saverse of [i ‘ ] i

A7)

149. iF o iz o complex cube rool of un
@ ar
r "
-~
o[
I -1
C i
st I A . then the correct slatenent

A AZ=1 B. A1~0

ATz DoAY ]

The area of the region [ying above the caxis
and bencath the graph of the function

A Dsaxt,
Fixy= { x? 15527 5 cqual o
A 113
L )

182, The area in square units bounded by the g
a2 = dy aul the Time xoo 4y ~ 2 s 4

151,

B. 51
oo

. 52 B. 23
L. B O S48
183, For eny 2 x 2 malrix, 4, | dﬁi] e
50 e '::
[{] SJ.IhEnr[elA P15
A. D
Coin
154, 5 a1 marrix A of order 4, if df

fninanis of 4, then (4] bard] Al

a2, el
D. none of these

0
O, then 141 lagj Al Is equat to:
1]

B af

I3, 2%

{ o
The multiplicative inverse of {{] _"J is equul
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